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109. Two small spheres each having equal positive charge Q (Coulomb) on each arc suspended
by two insulating strings of equal length L (meter) from a rigid hook (shown in Fig.). The
whole set up is taken into satellite where there is no gravity. T he two balls are now held

by electrostatic forces in horizontal position, the tension in each string is then

LF 68 2505 Ddgorddo (+Q) £0AS Tods D) Feves L 2 &4y fe
podfo BrAos® uf T30 ol Fordbabed amyon (Deed' Srudtm). &
Jmdo Sgdn hdegidn B0 8BS N8 H%FD B pdel. » Todk At wren
fdwo Y Degd woo Swreom 8w DEredd Do avtrom. W yd ang®
sod SHzd Dead

o e

Q g
3 2 2
Q Q 9t
(1) 16 ne, L° (2 gne, L? ( dne, L° (%) 2%, L?
Rough Work
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110. Three resistances of equal values are arranged in four different configurations as shown
below. Power dissipation in the increasing order is

2.3 D6'Go Dend ¥OAS Surdy DE'pres Hood® drbddemr o Jeranr Sodogrow.
Sygrsrad rdodp Jwdos )0 aqdt

R R
I A
— AW — N R
R R R ! H
A
(1 (1)
R
R %
s i
| I A J > =
R
. Jl'lﬁﬂ. R — u-'_ﬂ.:
(1) A
(1) (I < () < (V) < (1) @ <@y <avy <@
(3) (1} < (V) < () < (1) (4) (1)< (1) < (1) < {(IV)
Rough Work
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111. Four resistors A, B, C and D form a Wheatstones bridge. The bridge is balanced when C = 100 ().
If A and B are interchanged, the bridge balances for C = 121 €2 The value of D is

o wbtgron A, B, C S:0ciw Deodt DEIT Y P& 285808, C = 100
wonddds D Dodiode Tolold. A, Bods winydo SrdydRd C=1210
&g |08 Jodoodo Toad D Dens )

(1) 10 Q (2) 100 Q (3) 100 (4) 120 0

e e m— 5

112, Toral emf produced in a thermocouple does not depend on
(1) the metals in the thermocouple
(1) thomson coefficients of the metals in the thermocouple
(3} temperature of the junctions

(4) the duration of time for which the current is passed through thermocouple
wf agdonios® Indo a2 Iow wgrdddld Dhako

(1) addemodd s'irdne dod

(2) sLduiiod'd SFrdve gdnd heseo g

(3) Dodhe TWnE) adfdde Dy

(4} agdindio orgor (Bdrdodad Ddigdyrarire Bws) vidsroo Ly

Rough Work
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113. A long curved conductor carries a current [ (1152 veclor). A small current element of

length @ , on the wire induces & magnetic field at a point, away from the current element.
I the position vector between the current clement and the point is T, making an angle

with current ¢lement then, the induced magnetic field density; dB (vector) at the point is
(b, = permeability of free space)

df % T -
(1) E—“-L—:E ndicular to the current clement daf
T
I x P —
(2) F—;I:ﬁ—— perpendicular 1o the current element df
F14
TET L 3 = -, .
(3 — ) — perpendicular 1o the plane contaring the current element and position veclor T
Pl x : A " )
(4) ---4—..— perpendicular 10 the plane containing current element and position veclor T
g

a5 SER Diag S indod® Dagd (DI »ad [ (1 sod. a8 At Ddogh

weryudo 47 55 oaog), dodorr a5y of Dot &ifd wohiry o8 B30 (odnded.
Dodaas :Id:g]ﬁ-uduﬂ 2oy = s04 T Adgh Hﬂ‘;}ﬂiﬂﬂ‘ P aom ook,

whypds. Dodidy 8409 (h08 woiapod £ ($ Fogd dB (had
(p, = IT9go B[y, *nnﬂlcﬁ:-ﬂﬂu:!:

ol dext

(1) =3 D&sgerodo df &8 wowom
dmr
n]x'r::ﬁ' —
R péogerodo df8 oouom
ar

3 B2 pgsgsngmen wodor T a4 § LOAS Serd8 vow DI
§

A =df
4) “}4;“.;:_ D&sgd 3T wodo, 3 BOA T {ons dornd vown 83T

Rough Work
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114. A primary coil and secondary coil are placed close to each other. A current, which changes
at the rate of 25 amp in a millisecond, is presenl in the primary coil. If the mutual inductance
‘s 92 = 10°® Henries, then the value of induced emf in the secondary coil 13

nE | O Sodn Te dates nEaREES gegm wondaron. |Ergs o &
28 WD h¥odis 25 wobdh( Bene® D&g8 |Bariro Srddr aol. Bods
Soge witgds (wom 1% 1078 e wond, Mo Hed 2dm DeogB oyt
B0 Dod

(1) 46V (2) 23V {3) 0.368 mV (4) 0.23 m¥Y

115. The de Broglie wavelength of an electron moving with a velocity of 1.5 10® m/s is equal
to that of a photon. The ratio of kinetic energy of the electron 1o that of the photon
(€ = 3x10* m/s)
|5 % 100 m/s Srios* $3OH8) Jogy® & (B Sdod BIgo erds d80d BEgod
ssrdom dod. Jog o, Firde f@e 450 day8 (C= 3= 10" m/s)

1 1
(1 2 (2) 4 3 3 @) 3

116. A proton when accelerated through a potential difference of ¥, has a de Broglie wavelength
2. associated with it. If an alpha particle is to have the same de Broglie wavelength &, it
must be accelerated through a potential difference of

W ranesd dor orgot u5 |@Ferds dgdmo SobsHd on & (Fh sdodRgge
\ o oo DEroMs 4 @' ddonBdge A §0A aogruwod oA d3imo
dahsehd VRS 3o

@ 3 (3) 4V ) 8V

oo | =

(n

Rough Work
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117. The half life of Ra®® is 1620 years. Then the number of atoms decay in one second in 1 gm

of radium (Avogadro number = 6.023 = 10™)

Ra®® Gaus) ed dddsoo 1620 Boddyorwe. 1 o |SEgo® He BA 08¢, 2.8
Do’ §ahsith smPHo Howg (wSm(E Bowg =6.023 x 107

(1) 4.23 = 10° (2) 3.16 = 10" (3) 3.61 = 10" (4 2.16 = 10"

The half life of a radioactive element is 10 hours, The fraction of initial radioactivity of the

element that will remain after 40 hours is

=¥ BATrer0y¥ Jarofo Tol) ef 2ddsrwo 10 doden. 40 Hobe dogd
2AD dod Saro¥o Wuky (o BAWrero ¥ Bdrled

i ¥ - v 8 |
(1) 5 {2) T (3) 8 (4) 4
; - Ie , 20 100
119, In a transistor if 5 = ¢t and I =. If @ varies between ﬁ and o1 °* then the value of i
E B
lies between '
1 l 100
L&.-"'-:'-.IJ‘?'-'J.E i‘c'=‘1. S8 b 'I'['H'=ﬁ. a Dead EE Sa0din —— E.'Hr_ﬁg Srodoond
3 E " 21 101 "

wond p Jwd sods agR

(1) 1-10 (2) 0.95-0.99 (3) 20-100 (4) 200-300

Rough Work
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. . vheir
120. Match column A (layers in the ionosphere for skywave propagation) with column B (thel

height range) :

Column A (S°gad o
dd0 Tpond'd SOt aEBIDN

Chal oS S0duodta Fdend'd TE Column B (=&

Column A Column B
(1) D-layer (a) 250-400 km
(I} E-layer () 170-190 km
(IlT) F-layer (c) 95-120 km
(IV) F,-layer (d) 65-75 km
The correct answer is
HOThR TGN

(O a am  av
Mm@ o & O
@ W @ @ ®
3) () (© b @
4) © @ @ (B

Rough Work
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CHEMISTRY

121. In photoelectric effect, if the energy required to overcome the atractive forces on the
electron, (work functions) of Li, Na and Rb are 2.41 eV, 2.30 ¢V and 2.09 ¢V respectively,
ihe work function of ‘K’ could approximately be in eV

0B D88 L‘hz_ra".n:mﬂ‘ Li, Na &:0cix Rbod® Jdogi=e Mg Ao edfdoe
Pl Al ] Hﬂﬂmaﬂ -’EE (e Lﬁﬁ&ﬂ?m}. Adanm 241 eV, 730 eV Haddbo
209 eV wond ‘K Twg, B9 oo VS craR

(1) 2.52 (2) 2.20 (3 235 4 2.01

_— ——

122. The gquantum number which explains the line spectra observed as doublets in casc of
. hydrogen and alkali metals amd doublets and triplets in case of alkaline carth metals is
(1) Spin (2) Azimuthal (3) Magnetic (4) Principal
@2l H0dn To St Ber HPBLOS'Y 3088 Bood S0dn o
$ay88 S'dto 3¢ Barostn dgody Typen SH0ED @ aduis n500d sgoo
SOBg
(1) B® (2) DEdndd (3) wahdod (4 2ES

—m

123. Which one of the following cannot form an amphoteric oxide 7
& |fob T8¢ 48 Behgyrs wE -ESELACE L
(1 Al (2) Sn (3) Sb 4y P

124. The formal charges of € and O atoms in CO, (O0=C=0:) are, respectively
CO, (O=C=07)¢" C :0d2 0 sEsrmpo 8 edres d&RT
{(n 1,-1 2y =1.1 3 2,2 (4) 0,0

Rough Work

47 Q

www.sakshieducation.com



www.sakshieducation.com

A

125. According 10 molecular orbital theory, the total number of bonding electron pairs in O,

s
wey wd)erd Bgroddw (56 B, 0,6 b)) wod Josteh sobw Roeg
(1) 2 2) 3 (35 (4) 4

126. One mole of N,H, loses 10 moles of electrons to form a new compound Z. Assuming that
all the nitrogens appear in the new compound, what is the oxidation state of nitrogen In
Z ? (There is no change in’ the oxidation state of hydrogen)

af Trd NH, 10 Brdo Jogrined gt yon £g adnvide £ ST
3| ute, T ﬁﬂal-ﬁfrﬁn:ﬁ* ﬂﬁ-lqﬁa:ﬁaﬂ-mﬂ. 7 & F&'ed widdn 2E Jod?
{__"_J‘iﬁ"ﬁ.'?.‘- B!:lﬁdm :gaﬁ‘ Srday Bda)

(1 -1 (2) -3 {3) +3 (4) +5

127. Which one of the following equations represents the variation of viscosity cocfficient (n)

with temperature (T) ?
G (ol ahiddninod® J0 auf(fis ()& Elﬁm famEo (n) Somdoyide Brdodiins?
(1) n=AcERT @) n=AR () n=Aet @) n=A "

128, The weight in grams of a non-volatile solute (M. wt : 60) to be dissolved in 90 g of water
to produce a relative lowering of vapour pressure of 0.02 is

0,02 by waybds dE)dd 0Roden 0 M Heed' gdnoddons
werh Y40 |EO8dn (wmgrdo = 60) erddn [rHwed

(1) 4 (2) 8 (3) & (4) 10

Rough Work

48 Q

www.sakshieducation.com



www.sakshieducation.com

/A

129. The experimentally determined molar mass of a non-volatile solute, BaCl, in water by
Cottrell’s method, i8

(1) equal 1o the calculated molar mass {2) more than the calculated molar mass
(3) less than the calculated molar mass (4) double of the calculated molar mass

2.8 wari ) ¥0 (ordddn, BaCl, so|rSnind oot PWrTE s Dgrdde oy
SEowoad 2rorl grdo

(1) ©8008 Irerb rdosh DrdEN  (2) B 0 0% Irerb wdo SoT XD
(1) ©io0d Ireb ygrlo dod S8 (4) TERoTS Srenh prdoh Dobode

e = - —— ———_—

i!ﬂ. The number of moles of clectrons required to deposit 36 g of Al from an agqueous solution
of AUNO,), is (AL Wi of Al = 27)

zo AlND,), |[gramo 4308 36 (o= Ald: DE30 Joinbdh sHehd dJeFiee
Srde hogg (Al agarm wrdse = 2N

(1 4 2y 2 (3) 3 (4 1

131. The emi (in V) of a Daniel cell containing 0.1 M ZnS0, and 0.01 M CuSO, solutions al
their respective elccirodes is

0.1 M ZnS0, s30ain 0.01 M CuSO, |oiere H8rHme a8 Jt}.g'jﬁu s &3y
o Aoghd tobo oYy emf (Vedh

"Ef'u"!l.‘u. =034V, i".f:._“:- a® -0.76V)

(n 110 (2 1.16 (3) 1.13 (4) 1.07

Rough Work
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132. Which one of the following elements, when present as an impurity in silicon makes it a
p-type semiconductor 7

& 208 o0 2 Sorofsn S0Som sol WOsS p-oo o Frsdn eidiod?

(1} As (2) P (3) In {4) Sb

= = a - =

133, Which one of the following statements is correct for the reaction

CH, COOC,Hy + NaOH — CH,CO0Na + C,HOH
(aq) (aq) (ag) lag)

(1} Order is two but molecularity is one
(2) Order is one but molecularity is two
(3) Order is one and molecularity i1s one

(4) Order 15 two and molecularity is two

CH, COOC,H, + NaOH — CH;COONa + C,H,OH
(24E™) (20" (2gEM (oM

& Sdgs 5od Didmed® 26 HOTRIL?
(1) (farcfo Tode 5o weod wid

(2) (Sarofo asd 570 wnod Tod

(3) (SSroSc oEd Soddinw wowd gl

(4) (E&5rofc Todo Ho0diw wmod Todo

Rough Work
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134, The catalvst and promoter respectively used in the Haber's process of industrial synthesis
of ammonia are

trab Sgd oo sIrIGr FOTios moland' ad@rnod adysdZe
ad ol fﬂﬁfi’u Sdafme

(1) Mo, "-":‘-i.ll'j (2} ‘r’zﬂﬁ, Fe {3) Fe, Mo i4) Mo, Fe

——— e ——

135, Which one of the following statements is NOT correct ?
(1) The pil of 1.0 = 10°% M HCI is less than 7.
(1) The ionic product of water at 25°C is 1.0 = 10~ mol® L2
(3} CI is a Lewis acid. 1
{(4) Bronsted-Lowry theory cannot explain the acidic character an.H:iJ.
o8 Jddmeod I8 HLOTHIE g
(1) 1.0 =10 M HCl |orded) pH Dess 7 o S5 8.
(2) 25°C 53¢ 2 ocird¥ ozdn 1.0 % 107 308 b2,
(3) CI" a8 erow adide,
() AICH SInfy ey Sgerardy, @SR - 0 bgroddn D¥bEsosdd.,

136, The molar heat capacity {{'P} of water at constant pressure is 75 )K", mol™!. The increase
in temperature (in K) of 100 g of water when 1 k.J. of heat is supplied o it is

38 Lade ¥ U8 Fref shede (C)=75 &K 3100 . Hes
1827 add) sd d9de o@HsS® ohde (Kodh

(1 2.4 (2) 0.24 (3) 1.3 {4) 0.13

Rough Work
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137. Gelly 15 a colloidal selution of

I N — —i

138.

(1) Solid in liquid _62Y Liguid in solid

(3) Liquid in liquid (4) Solid in solid

2d 28 Foond odmo

(1) |@ded® pddorgo (2) Pddordod® [HEswn
(3) |Gdos® G0 (4) ‘,’:a.‘-ﬁ:bn*g‘u-ﬁ“ dddorgo

The product(s) formed when H,0, reacts with disodium hydrogen phosphate is (are)
H,0, Brddio o @us P b)48" Jdp TobisRds, 68 Basr 255w (w)
(1) P,0,, Na,PO, (2) Na,HPO, - H,0,

(3) NaH,PO, - H,0 (4) Na,HPO, - H,0

139,

Which of the following is NOT correct ?

(1) LiOH is a weaker base than NaOH

(2) Salis of Be undergo hydrolysis

(3) Ca(HCO,), is soluble in water

(4) Hydrolysis of beryllium carbide gives acetylenc

B8 TR 28 DOTREE P&?

{1) NaOH %0% LiOH weo'rids pdsdw

(2) Be Tn¥) eolwrw so IMands Jodd

(3) Ca(HCO,), 28&* £8%

(4) Boddio 3 8% ze Jdte MDD IWedS Jiyds

Rough Work
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140. What is £ in the following reactions 7
& (Bod ddsﬂﬁ‘ Z 287

Cu=Al
BCly + Hy —2s X + HCI

methylation
X — —

hETas
(1) (CH,)BH, (2) (CH,),B,H, (3) (CH;L,BH,  (4) (CH,)B,

141. Which one of the following elements reduces NaOH to Na 7
& (ol Swosinod' 28 NaOHZ:, Nar Zowngdodada?
(1 Si (2) Pb {(3) C (4) Sn

142. Which one of the following is used in the preparation of cellulose nitrate ¥
& o0 odd' WAL Hoppd'd JHSH ddrdddhorll ¢OTWrAY?
(1} KNO, (2) HNO, (3) KNO, (4) HNO,

143. The oxoacid of sulphur which contains two sulphur atoms in different oxidation states
is
(1) Pyrosulphurous acid (2) Hyposulphurous acid
{3) Pyrosulphuric acid {4) Persulphuric acid
g::l:_ﬁ wiydas hdm do Tods Doyl Sddrmipomd) EER] o'y wddn
&

(1) :.:E“..:u?;wdf: edad0 {2) :mﬂ‘ﬁu?;}aﬁﬁ wdidn
(3) E:{i‘ﬁu:l";,gﬂg w350 (4) '-':E‘J:rm'asﬂﬁ e dadn
Rough Work
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144. Bond encrgy of Cl,, Br, and 1, follow the order

Cl,, Br, 38 oo sz.r wod 48 |Fdodw
(1) Cl, > Br, > 1, (2) I’l1'2 > I‘EI2 > Il

(3) 1= = Br, = Cl, (4) 1,>Cl, > Br,

145.

- = —_— e —

Assertion (A) : The boiling points of noble gases increases from He to Xe.

Reason (R) +  The interatomic van der Waals attractive forces increase rom He to Xe.
The correct answer is .

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

{2} Both (A) and (R) are true, and (R) is not the correct explanation of (A)

(3} (A) is true but (R) is not true

{4) (A) is not true but (R) is true

AAyESw (A) @ =dardiade el gsd adiiden, He Sood Xe 505 “adatiada.

séndx (R) : wodd fdrmPpe Hdzde 7od8b ady uwide meren He
mood XNefs odafade.

H0T0E HIrgrdde

(1} (A) S:0d8x (R)aw R Sbdln (A) ?ﬁnﬁ'a_ ﬁ-ﬂ-_@}ﬁ wude (R)

(2) (A) S:0a5n (R)oo Deden S:00k0 (A) TwE) HOTHES 88w (R) s
(3) (A) DuSs =2 (R) dusn &

(4) (A) Radw s~d 5w (R) Qude

Rough Waork
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146. A coordinate complex contains Co®’, C1” and NH,. When dissolved in water, one mole of
this complex gave a total of 3 moles of ions. The complex is

28 Hodga HE¢ssns® Co¥, C17 Modks NH,wF00. nf Ard Dy esdod
gt £8R0DSHE: Swdsn 3 Brde sdrlod aljed. @ CESLEESY

(1) [Co(NH,),ICl; () [Co(NH,),CIICL,

(3) [Co(NH,),CLICI (4) [Co(NH,),Cl,]

e —————— - e —— e ———— e v o —

147. Ni anode is used in the electrolytic extraction of
(1) Al (2) Mg
{3) Na by Down’s process (4) MNa by Casiner’s process

B asgagtan Daged® Nis st G oA

{17 Al (2) Mg
(3 &= :::.gaﬁ" MNa 4) =08 t&gaﬁ‘ Na

———— e s —— e e —e

148. The pair of gases responsible for acid rain are
wdy Sl sdmBod Tdlwipe =od

(1) Hy, O, (2) H,C, 0, () NO, SO,  (4) CO,CH,

Rough Work
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149. The chlonination of ethane is an example for which type of the following reactions 7

(1} WNucleophilic substitution (2} Electrophilic substitution
(3) Free radical substitution (4) Rearrangement

UL W) £oda5 & Bos S8god' U2 aoirdm?

(1) SrgE@rpds poaioe (2) def'y%hdE R8Fde
(3) 'hsxrt)._é'aﬁﬂﬂ [©88%m (4) pRos08

- - = — —_

150, Different conformations of the same molecule are called

(1) lsomers (2) Epimers (3 Enantiomers  (4) Rotamers
2E ool g ¢ eldrdTod wotrd:
(1) 2388 (2) DS (3) IFPWrdeds (4 ersed

—— = SR

e = I—— —

151. Which of the following statements is NOT correct 7
(1) The six carbons in benzene are sp® hybridised
(2) Benzene has (4n 4+ 2)x clectrons
(3) Beneene undergoes substitution reactions
{(4) Benezene has two carbon-carbon bond lengths, 1.54 A and 1.34 A
1 Bolk r8d® D8 DHOTLY D5dn T
(1) Bo25e'D wd: s*8Res sp’ Ho¥dEEmSn TodSD
(2) Bed5 (@nt+ ndogreses: A 6510
(3) BodS @ETdw SOgodt JdTHb
(4) DodSS* Tods R AL wodBorgen 1.54 A S0 134 A @)D

Rough Work
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152. Match the following

List-1 List-11
(A} Acetaldehyde, Vinylalcohol (I}  Enantiomers
(B) Eclipsed and staggered ethane (II) Tauwomers
(C) (+) 2-Butanol, (-} 2-Buianol (1T} Chain isomers

() Methyl-n-propylamine and Dicthylamine (IV) Conformational isomers
(V) Metamers

$i (B0d oun zdBEdod

a2 Lo : Lol
(A) 2l G, D38 woup s (I} 2ol Sdrdads

(B) o So0c8n wRdgn GES () & & 58

(C) (%) 20363, (-) 2-mogod’d () Brends A8 Tges
(D) So@o-n-ErTod L Y, P (IV) eedrs Eyrge:
Bagd ok (V) Doerdods

The correct answer is
20Tk ndrgradn
Ay () () (D
(1) (my vy (I (v)
(2y (0  (avy (0 (V)
(3 (¥ (O (IVv) ()
4 (VY (D iy (I

Hough Work
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153. With respect to chlorobenzene, which of the following statements is NOT correct 7
{1} Cl is ortho/para directing (2) CI exhibits +M effect
(3) CI 15 ring deactivating (4) CI 15 meta directing
E'S* Bodl% Dowodol. & 2ol TES' HOTHS DEde FAE WO
(1) Cl ug'f:}-n- NgdEEn (2) Cl ;M [Berddn dripdiod

(3) Cl Seods Adaisn (4) Cl Ber DY4L5n

154. ldentify the product in the following reaction

& (50 ﬁdgﬁ" adydysnd dlopan

OH
S,
~ “HC
f HL_};::;H Product
T CEREALES
CHO OH
~ ~ CHO
m P (2) IT 3
=
CoH
(4)
58 Q
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155, Compound-A (C,H,O) undergocs following reactions to form B and C. Identify A, B and C.
D@y @ddu-A (CHLO) & (500 S@gus’ SR B S8ax Cod D8 ydatgol, :
A B S:0u8n Cd ffoipawn.

C gl C,H0 - LidaOH
A
M H [
R
(1) HC—C—CH, CHI, H,C—CH,—CH,
(2) H,C=C—CH,0H CH,l H,C—CH,—CH,—OH
H _
1 II_,IC—-{'Hz-- CHO CHLI H._qll'.:f‘—ul.'l_'H—«!{_"E111
OH
4]
[ »y
() H,C -C ~CH, CHI, H,C—CH—CH, ]
OH

e — e —

156. What is the product obtained in the reaction of Acetaldehyde with semicarbazide 7

JHhed b Bedy 868 SdgSosm Dyds adasy dorgse &7

O
1l
(1) Hjl‘.' {H = N—NH-—-C —NHI (2) II!IT_‘ CH =M —1"-Jﬂ1
8]
I
(3 H}L“---l:‘ll = W--0H (4) 1!3{'—{;‘ = ‘:~1—-l'--1h|---~'.',‘—-!~-1H3

CH,

Rough Work
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157. Identify A and B in the following reactions
Bod Sdged® A Sb8de Bods Miedin

NO,
LiAlH, i cl,
B ¢« —— | » A
Fe

A B

riu:rI .

L il

C:Hs —N—N—CH

m | 5 A R

ND!
(2) l i CH,—N = N—C.H,

“H-Ta-‘

Cl

N,

oy :
(1) ! ,1 EaHs._'N - H_LEHS

H';;’J‘Rl’_‘l

H[’J=

(4} | g C H—NH,
l

Rough Work
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(1} 1, 3-Buladiene {2} 2-Chloro-1, 3-butadiene

158. The monomer of ncoprene is

{3y 2-Methyl-1, 3-butadiene {4) Vinyl chloride -
n@rbie*y IrTF b
(1 1. E-mrgu'r.‘iwﬁ (2) 2-8°6%-1, 3-urgerdowrs

() 2-2:8&-1, J-urgardons 4) D36 §'3T6

159. The site of action of insulin is
(1) Mitochondria (2) Nucleus
{3} Plasma membrane (4) DNA

:h..-:.ul:rl!}.ﬁ i et s e ‘;gu;&:::r

(1) =e'sodair (2) Sod¥dw

() Ay Sgudn (4) DNA

160. 4-Hydroxy acetanilide belongs to which of the following 7
(1) Antipyretic (2} Antacid (3) Antiseplic _k4)  Antihistamine
4-rigry JDrDBE 6 (Bob TUSt TAE Todidiod?

(1 m.z'uﬂ:‘u:-ﬁﬂﬁ (2) cdrotrhd (3) drodH%E M) :ﬂra-ﬂh-&.ﬁ:ﬁ
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SPACE FOR ROUGH WORK
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